Problem 8.47

Determine I1, I2, V1, and V2 in the network in Figure P8.47


[image: image1.wmf]·

·

V

1

V

2

+

-

-

+

I

1

2:1

I

2

2

W

2

W

10Ð30

o

V

Figure P8.47

Ideal


Suggested Solution


[image: image2.wmf]·

·

V

1

V

2

+

-

-

+

I

1

2:1

I

2

2

W

1

W

10Ð30

o

V

Ideal

Z

L

 = 2

W

,  n = L/2,  Z

1

 = Z

l

/n

2

 = 8

W



V

1

 = 10

Ð30

o

[Z

1

 / (Z

1

 + 1)] = 8.89

Ð30

o

V

I

1

 = (10

Ð30

o

) / (1 + Z

1

)  = (10/9)

Ð30

o

A = 1.11

Ð30

o

A



I

2

 = - I

1

 / n = - 2.22

Ð30

o

A = 2.22

Ð-150

o

A

V

2

 = - n V

1

 = 4.44

Ð-150

o

V


_1052165555.bin

_1052165987.bin

